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General Instructions :

0 This question paper consists of four sectidpB, C and D. SectionA contains
5 questions of one mark each, Sect®ns of 10 questions otwo marks each,
SectionC is of 10 questions ofhree marks each and Sectidh is of 3 questions
of five marks each.

(i) All questions are compulsory.

(i)  There is no overall choice. However, an internal choice has been provided in one
guestion ok marks, one question 8fmarks and one question ®fmarks weightage.
Attempt only one of the choices in such questions.

(iv)  Question numberd to 5 are to be answered ione wordor one sentencesach.
(v)  Question number8 to 15 are to be answered in approximat@§-30words each.
(vi)  Question number$6 to 25 are to be answered in approximat@@-50words each.

(vi)  Question numberg6 to 28 are to be answered in approximated®-120 words
each.
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SECTION A
qE A

What would happen to the rate of photosynthesis,iplénhts if the CQconcentration
level almost doubles from its present level in the atmosphere ? 1
afe argHvesd I CO, T WEv &R S8 aqd{ &R & T A & A, ar C, drei

H YRI-GIAUTT hl & W FT GHE G2 ?

In humans, starch digestion begins in the buccal cavity but stops in the stomach. Why ? 1
T § = w UEE @ el H§ IR & ST & W AEE § 9gdad W 6 A § |
T FT BT & 7

Name the two most biodiversity-rich zones of India. 1

ORT & & qaiesd Saidaed-ae e a5 & A9 9qrsu |

Name the hormone that makes the plants more tolerant to various stresses. 1

3G S HT AW gqeT Sy el w [t aarat & ufa it geasliar a9 2 ® )

Name the two major groups of cells required in attaining specific immunity. 1
fafere gfcem ur w6 BF @ 9 FIE-aEEl @ STasddar el 8, 39 AW
ERIEA

SECTION B
|qE B

Name the end products of aerobic and anaerobic glycolysis. List two ways by which
molecules of ATP are produced in glycolysis during aerobic respiration in a cell. 2

AT JAT STATEE DT & A SRS & AW qaAe0 | I dEdr 31 et €

% g/ FIRE & WY a9ad @8 & QR TaEdiaed § ATP & &9 a9d

g ?

Differentiate between Total Fertility Rate (TFR) and Replacement Level (RL). A 3
FEOT el X (TFR) @ gfoedmos &R (RL) # fa¥g &g |



10.

11.

12.

13.

14.

15.

Due to uncontrolled excessive hunting the population of tigers in a forest becomes zero.

Discuss the long-term effects of this situation on the population of deer in that forest.
st srafee iR fF S & SR uw a9 § ardl @ 9@ 0 8 R © 1 99 ad
7 ol @ gafte W T8 Rafd & e g9 #@r B, f[eEe sk |

Name the source gland of leutinising hormone (LH). Mention the other hormone along
with which it acts on its target cells/organ. Give their two functions.

el gH (LH) &7 @ Ufer &1 9 Saiey | 98 SIFar g B € 91 6wl aed
FEBIST/Sh T T -1 FhaT BT & 7 & &l Al Pl I bitorg |

Can all the four chambers of the human heart experience systole simultaneously?

Explain justifying your answer.
OR

2

What do you call the circulatory fluid in the body of cockroach ? Mention its three

functions.
FIT AT g & IR el § U 9 gk (RE) & qadr € 7 Ufte wd g0 ST
I FHAAET |
St
wipia (feas) i 38 ¥ aREard ga & F®&7 Fed § 2 39 A9 HEl B S B |

Why did scientists pick hydrogen as the basis for MRI scanning ? Name two parts of the

human body that do not appear in an MRI scan.
MRI-EHT & [0 Jsiiepi = STEge &l & STER & &9 § i g1 ? 7 SR & 37
T 9T % A gA2U St MRI &b H Yehe T8 B |

What is thermal stratification ? How does thermal stratification in temperate lakes help

in rich growth of phytoplankton during autumn and spring turn-over?
AT & fhe Fed © 7 SiAreT Sl § 9RE IR J6d & SR Ueuwiddhl &l Wil
gha § ™ T P YRR e wRdr § 7

Where do PGA and glycine gain entry respectively after being formed during

photorespiration in plants ? What happens to them immediately after ?

el F YRIST-9989 % SR a9 aTl PGA T Td U9l Hal a9 &d & ? 3qd
T 91E T BT &

What is meant by bioassay ? Name the two bioassays that are used to examine auxin

activity in plants.
S-S (AE0E) ¥ T AN & 2 S & Sa-SdEl & A aarey o gt #
SiffreT-afshaar & qderr & fou e g o 2)

Explain CQ compensation point.

CO, widsrl fdg e Hif |

2

2



16.

17.

18.

19.

20.

21.

SECTION C
g C

Define the following and give their values in a normal human adult :

() Tidal volume

() Expiratory reserve volume

(i) Inspiratory capacity

frefafa #1 i fafae qem G 9o JEt § S 5 S

() <o S

(@) fregas g smaas

(il) SATgErET e

() How do grasslands differ from Savannas ?

() Name the two major categories of plant forms that dominate the desert vegetation.

() TammeT 9§ aeed fhe yer e e © 2
(i) UF Uey w@Eu #r & g AEt & AW qasy A Aol aqetd § gy e
2
Explain the Capillarity Theory in respect of ascent of water in plants. Name the tissue
involved. 3

o H A & ST § Fad HIw-Rgia & ear 8, a9y | 399 fAfed Saw @
I TqET |

Explain the initiation of muscle contraction. What is the role of Sarcoplasmic Reticulum,
Myosin head and F-Actin during contraction in striated muscles ?

Ui-Heh= 1 YRAA BT 9HET | fad UiiEl & Hgdd & SR usiiEed S
(AmenTeTowe fegam), At i 7ar F-Ufdes @t ffeer @ el © 7

What is meant by ozone shield ? Name two gases that can cause damage to this shield.
Give one harmful effect of this damage each on plants and animals.

AT ad | &1 A & 2 THH & T4} & 919 qq1eU e ERT 39 &ad dl el 9gd
TRl T 1 3T B F Well Jar Wil W USH Il Ueh-Udh Bl 91 9d18T |

Why is sub-culturing essential in plant tissue culture ? 3

OR

Explain the process of heterosis. How is it different from inbreeding depression?
e Sk QA § IU-HIET bl AEEH & 7

Hqq
faomerar (BeufeE) afhar Tweeu | SdUeHE EH ¥ I8 fhd YeR U et ' ¢

3

3



22.

23.

24.

25.

26.

Where and how is urea produced in ureotelic animals ? What happens to the kidney
filtrate in descending loop of Henle and collecting tubules in humans ?

gfar-scaett wiforat & i wet ofR &9 ST & 2 HEl § STERiel &l IS T Heh
Afcrertatt 9 ger MEdT @1 A B § ¢

Distinguish between epimorphic and morphallactic regeneration, giving one example of
each. 3
UfUEih® 6T qOT Wihaided JT6gHaT & Uh-Uh IaTEU @H IH 3
ERiE

Mention where the following are located in the human brain, and give one function of
each : 3
() Temporal lobe

() Cerebellum
(i) Corpus callosum

Mg Aws H# frefaiad wel RO B g, Swi@ HINg qoT Ydd B UH-UE B

IARY :

() <@ drfer

(i) srgAfETH

(i) P HerEH

Define innate immunity. Name and explain the category of barrier which involves
macrophages. 3

el gfawem &f uiemenr dfNu )| 39 aier-Aoi & AW §disy Ug q9enge e
TRTHeRI] (Fehrere) fafed g ¥
SECTION D
e D

What is the basis of classifying cancer ? Name and explain the different categories of
cancer. Mention any two approaches for cancer treatment.

OR

What is embryo culture ? What is the objective of this culture ? Describe the three
applications of this technique.

HE F fFH STER W Ffiga fhar Iar & 7 dad & fafte Sl & 9w gary qen
3% GUSEY | hax IUAR P & AR Ml # Iwd B |

et
o7 qae o Fed & ? 30 GAYT #T 9T HT BT & ? T qAbAlh b o STUAr
N IO BT |



27.

28.

Draw a diagram of the longitudinal section of a mature anatropous ovule and label any
ten parts in it. 5
OR

Draw a flow-chart to show the hormonal control of the human male reproductive
system, highlighting the inhibitory and stimulatory directions in it.

UF IR g (UATEE) s @ SR QA @ SR@ IeU qgr I9H [l <9
HRT T IR I |
Hqq
AN TR TAT G & B HE # U YAe-ae gy o SEH deHel adr SasEr
feqmet @ fasw R W fErEn |
Explain the process of biosynthetic phase of photosynthesis occurring in the chloroplast.
OR

Describe the process of development of root nodules in a leguminous plant. Name the
oxygen scavenger molecule present in the root nodules.

eRaa®d (FARTRE) § & arell ThIT-H9000 i Aaaeeidl Graee &l ihar a9emsy |
YT

HAGR W § g WfereRT & a9 0 URRAT @ avi it | ga Afeeereti H umg a1 ard

SRS TS AT BT AH TA1ST |






